



# On the difference equation $y_{n+1} = A + \frac{y_n}{y_{n-k}}$ with $A < 0$

M. Saleh \*, M. Aloqeili

*Department of Mathematics, Birzeit University, P.O. Box 14, West Bank, Palestine, Israel*

## Abstract

We find conditions for the global asymptotic stability of the unique negative equilibrium  $\bar{y} = 1 + A$  of the equation

$$y_{n+1} = A + \frac{y_n}{y_{n-k}}, \quad (0.1)$$

where  $y_{-k}, y_{-k+1}, \dots, y_0 \in (0, \infty)$ ,  $A < 0$  and  $k \in \{1, 2, 3, 4, \dots\}$ .

© 2005 Elsevier Inc. All rights reserved.

*Keywords:* Recursive sequence; Global asymptotic stability

## 1. Introduction

In [1] the periodicity of the difference equation

$$y_{n+1} = A + \frac{y_n}{y_{n-k}}, \quad n = 0, 1, \dots, \quad (1.1)$$

where  $y_{-k}, \dots, y_{-1}, y_0, A \in (0, \infty)$  and  $k \in \{2, 3, 4, \dots\}$  was studied. Our aim in this paper is to establish global asymptotic stability results for this difference equation with  $A < 0$ .

It was shown in [3] that for the case  $k = 1$  the positive equilibrium  $\bar{y} = 1 + A$  of Eq. (1.1) is globally asymptotically stable for  $A > 1$ . In [1], the periodicity of Eq. (1.1) was investigated. In this note, other related results of asymptotic, periodicity, and semi-cycles are investigated. We list below some definitions and basic results that will be needed in this paper (see [5,7,10]).

**Definition 1.1.** We say that a solution  $\{y_n\}_{n=-k}^{\infty}$  of a difference equation  $y_{n+1} = f(y_n, y_{n-1}, \dots, y_{n-k})$  is *periodic* if there exists a positive integer  $p$  such that  $y_{n+p} = y_n$ . The smallest such positive integer  $p$  is called the prime period of the solution of the difference equation.

**Definition 1.2.** The equilibrium point  $\bar{y}$  of the equation:

$$y_{n+1} = f(y_n, y_{n-1}, \dots, y_{n-k}), \quad n = 0, 1, \dots$$

\* Corresponding author.

*E-mail addresses:* [msaleh@birzeit.edu](mailto:msaleh@birzeit.edu) (M. Saleh), [maloqeili@birzeit.edu](mailto:maloqeili@birzeit.edu) (M. Aloqeili).

is the point that satisfies the condition

$$\bar{y} = f(\bar{y}, \bar{y}, \dots, \bar{y}).$$

**Definition 1.3.** Let  $\bar{y}$  be an equilibrium point of Eq. (1.1). Then the equilibrium point  $\bar{y}$  is called

- (1) locally stable if for every  $\epsilon > 0$  there exists  $\delta > 0$  such that for all  $y_{-k}, y_{-k+1}, \dots, y_0 \in I$  with  $|y_{-k} - \bar{y}| + |y_{-k+1} - \bar{y}| + \dots + |y_0 - \bar{y}| < \delta$ , we have  $|y_n - \bar{y}| < \epsilon$  for all  $n \geq -1$ ,
- (2) locally asymptotically stable if it is locally stable and if there exists  $\gamma > 0$  such that for all  $y_{-k}, y_{-k+1}, \dots, y_0 \in I$  with  $|y_{-k} - \bar{y}| + |y_{-k+1} - \bar{y}| + \dots + |y_0 - \bar{y}| < \gamma$ , we have  $\lim_{n \rightarrow \infty} y_n = \bar{y}$ ,
- (3) a global attractor if for all  $y_{-k}, y_{-k+1}, \dots, y_0 \in I$ , we have  $\lim_{n \rightarrow \infty} y_n = \bar{y}$ ,
- (4) globally asymptotically stable if  $\bar{y}$  is locally stable and  $\bar{y}$  is a global attractor.

The linearized equation of Eq. (1.1) about the negative equilibrium  $\bar{y} = 1 + A$  is

$$z_{n+1} - \frac{1}{1+A} z_n + \frac{1}{1+A} z_{n-k} = 0, \quad n = 0, 1, \dots \quad (1.2)$$

The following result is a consequence of the conditions given in [6, page 12], see also [8,9].

**Lemma 1.4.** Assume that  $a, b \in \mathbb{R}$  and  $k \in \{1, 2, \dots\}$ . Then

$$|a| + |b| < 1 \quad (1.3)$$

is a sufficient condition for the asymptotic stability of the difference equation

$$y_{n+1} + ay_n + by_{n-k} = 0, \quad n = 0, 1, \dots \quad (1.4)$$

Suppose in addition that one of the following two cases holds.

- (a)  $k$  odd and  $b < 0$ .
- (b)  $k$  even and  $ab < 0$ .

Then (1.3) is also a necessary condition for the asymptotic stability of Eq. (1.4).

**Lemma 1.5.** Assume that  $a, b \in \mathbb{R}$ . Then

$$|a| < b + 1 < 2$$

is a necessary and sufficient condition for the asymptotic stability of the difference equation

$$y_{n+1} + ay_n + by_{n-k} = 0, \quad n = 0, 1, \dots \quad (1.5)$$

**Lemma 1.6.** The difference equation

$$y_{n+1} - by_n + by_{n-k} = 0, \quad n = 0, 1, \dots \quad (1.6)$$

is asymptotically stable iff  $0 < |b| < 1/2 \cos\left(\frac{k\pi}{k+2}\right)$ .

**Lemma 1.7.** Consider Eq. (1.1). If  $A < -2 \cos\left(\frac{\pi}{k+2}\right) - 1$  then the unique negative equilibrium  $\bar{y} = 1 + A$  of Eq. (1.1) is locally asymptotically stable, while if  $A > -2 \cos\left(\frac{\pi}{k+2}\right) - 1$  then the positive equilibrium is unstable.

**Proof.** The proof is a direct consequence of the conditions in Lemma 1.6.  $\square$

The above lemmas lead to parts (a), (b) of the next theorem and the proof of part (c) is straightforward.

**Theorem 1.8.** *The following statements are true:*

- (a) *The equilibrium point  $A + 1$  of Eq. (1.1) is locally asymptotically stable iff  $A < -3$ .*
- (b) *The equilibrium point  $A + 1$  of Eq. (1.1) is unstable if  $0 \geq A \geq -3$ .*
- (c) *If a solution of Eq. (1.1) is eventually constant then  $y_n = A + 1, n = -k, -k + 1, \dots$*

**2. Analysis of the global stability, boundedness and the semi-cycles of solutions of Eq. (1.1)**

In this section, we show that every negative solution of Eq. (1.1) is globally asymptotically stable and thus get as a corollary the boundedness and persistence of solutions.

We say that a solution  $\{y_n\}$  of a difference equation  $y_{n+1} = f(y_n, y_{n-1}, \dots, y_{n-k})$  is *bounded and persists* if there exist positive constants  $P$  and  $Q$  such that

$$P \leq x_n \leq Q, \quad \text{for } n = -1, 0, \dots$$

A *positive semi-cycle* of a solution  $\{y_n\}$  of Eq. (1.1) consists of a “string” of terms  $\{y_l, y_{l+1}, \dots, y_m\}$ , all greater than or equal to the equilibrium  $\bar{y}$ , with  $l \geq -k$  and  $m \leq \infty$  and such that

$$\text{either } l = -k \quad \text{or} \quad l > -k \text{ and } y_{l-1} < \bar{y},$$

and

$$\text{either } m = \infty \quad \text{or} \quad m < \infty \text{ and } y_{m+1} < \bar{y}.$$

A *negative semi-cycle* of a solution  $\{y_n\}$  of Eq. (1.1) consists of a “string” of terms  $\{y_l, y_{l+1}, \dots, y_m\}$ , all less than the equilibrium  $\bar{y}$ , with  $l \geq -k$  and  $m \leq \infty$  and such that

$$\text{either } l = -k \quad \text{or} \quad l > -k \text{ and } y_{l-1} \geq \bar{y},$$

and

$$\text{either } m = \infty \quad \text{or} \quad m < \infty \text{ and } y_{m+1} \geq \bar{y}.$$

The first semi-cycle of a solution starts with the term  $y_{-k}$  and is positive if  $y_{-k} \geq \bar{y}$  and negative if  $y_{-k} < \bar{y}$ .

A solution  $\{y_n\}$  of Eq. (1.1) is called *nonoscillatory* if there exists  $N \geq -k$  such that  $y_n > \bar{y}$  for all  $n \geq N$  or  $y_n < \bar{y}$  for all  $n \leq N$ .

And a solution  $\{y_n\}$  is called *oscillatory* if it is not nonoscillatory.

**Theorem 2.1.** *Eq. (1.1) has no solution of prime period 2 if  $A \neq -1$  or  $k$  is even.*

**Proof.** If  $k$  is even then  $\Phi = \Psi = A + 1$  in which case  $p \neq 2$ .

If  $n$  is odd, then  $\Phi = A + \frac{\phi}{\psi}$  and  $\Psi = A + \frac{\psi}{\phi}$ . It follows that  $\frac{\phi}{\psi} = \Phi - A$  and  $\frac{\psi}{\phi} = \Psi - A$ . Multiplying the last two equations, we get  $(\Psi - A)(\Phi - A) = 1$ . Thus,  $\Phi \neq A$  and  $\Psi \neq A$ .

Moreover, we conclude that  $\Psi = \frac{1}{\Phi - A} + A$ . But on the other hand, we have  $\frac{1}{\psi} - \frac{1}{\phi} = \frac{1}{\psi^2} - \frac{1}{\phi^2}$ . Therefore, we get  $\frac{1}{\psi} + \frac{1}{\phi} = -1$ . Solving for  $\Psi$ , we get  $\Psi = \frac{-\phi}{1+\phi}$ .

The last two equations lead to  $A = -1$ . We conclude that the period 2 solution takes the form  $\dots, \Phi, \frac{-\phi}{1+\phi}, \Phi, \frac{-\phi}{1+\phi}, \dots$  This completes the proof.  $\square$

Notice that the solution oscillates about the steady state  $y = 0$  when  $A = -1$ . Every semi-cycle is of length one.

Now we find a global asymptotic stability result for the general case  $k \in \{2, 3, 4, \dots\}$ .

**Theorem 2.2.** [4] *Consider the difference equation*

$$y_{n+1} = f(y_n, y_{n-k}), \quad n = 0, 1, \dots, \tag{2.1}$$

where  $k \in \{1, 2, \dots\}$ . Let  $I = [a, b]$  be some interval of real numbers and assume that

$$f : [a, b] \times [a, b] \rightarrow [a, b]$$

is a continuous function satisfying the following properties:

(a)  $f(u, v)$  is nonincreasing in  $u$  and nondecreasing in  $v$ .

(b) If  $(m, M) \in [a, b] \times [a, b]$  is a solution of the system

$$m = f(M, m) \quad \text{and} \quad M = f(m, M),$$

then  $m = M$ . Then Eq. (2.1) has a unique equilibrium  $\bar{y}$  and every solution of Eq. (2.1) converges to  $\bar{y}$ .

**Theorem 2.3.** Let  $A < -3$ . Then the unique negative equilibrium  $\bar{y} = 1 + A$  of Eq. (1.1) is globally asymptotically stable.

**Proof.** Define  $f(u, v) = A + u/v$ . Then the result follows directly from Theorem 2.2.  $\square$

The global stability of the difference equation implies the boundedness of the difference equation.

**Corollary 2.4.** Let  $A < -3$ . Then every solution of Eq. (1.1) is bounded and persists.

We consider the following lemma about the behavior of the semi-cycles of Eq. (1.1).

**Lemma 2.5.** Let  $\{y_n\}$  be a nontrivial solution of Eq. (1.1),  $A = -1$ ,  $k \geq 2$ . Then every semi-cycle has at most 2 terms.

**Theorem 2.6.** Let  $k$  be odd and let

$$y_{-k}, y_{-k+2}, \dots, y_{-1} \leq A + 1, \quad 0 > y_{-k+1}, y_{-k+3}, \dots, y_0 > A + 1.$$

Then, the solution  $\{y_n\}_{n=-k}^{\infty}$  is oscillatory and every semi-cycle has length one. Moreover, every term of  $\{y_n\}_{n=-k}^{\infty}$  is strictly greater than  $A$  with the possible exception of the first  $k + 1$  semi-cycles, no term of  $\{y_n\}_{n=1}^{\infty}$  is ever equal to  $A + 7$ .

**Proof.** Just notice that, for any  $n \geq 1$ ,

$$y_{2n+1} = A + \frac{y_{2n-k}}{y_{2n}} > A + 1,$$

and

$$y_{2n} = A + \frac{y_{2n-(k+1)}}{y_{2n-1}} < A + 1.$$

The result then follows.  $\square$

### 3. Case $-3 \leq A < 0$

As it is noticed in Theorem 1.8, in this case the equilibrium point  $A + 1$  is not even asymptotically stable. Also, it is shown in [2] that for the case  $k = 1$  not every solution is bounded and thus is not even asymptotically stable. For the case  $A < 1$ , one might study necessary and sufficient condition on the initial conditions so that every solution is asymptotically or globally stable or even is bounded.

### 4. The case $k = 1$

DeVault et al. [3] studied the difference equation

$$y_{n+1} = A + \frac{y_n}{y_{n-1}}, \tag{4.1}$$

with  $A > 0$  and strictly positive initial conditions. Now, we study the stability properties and semi-cycle behavior of this equation without positivity restrictions. Consider the equation

$$y_{n+1} = A - \frac{y_n}{y_{n-1}}, \quad (4.2)$$

where  $A < 0$ . Then, using the change of variables

$$y_n = -x_n.$$

Eq. (4.2) becomes

$$x_{n+1} = -A + \frac{x_n}{x_{n-1}} = \alpha + \frac{x_n}{x_{n-1}},$$

where  $\alpha = -A > 0$ . It follows that all the results in DeVault et al. hold for Eq. (4.2) in the following cases:

- $A < 0$ ,  $y_{-1}, y_0 < 0$ .
- $A < 0$ ,  $y_{-1}, y_0 > 0$ .
- $A > 0$ ,  $y_{-1} > 0$ ,  $y_0 < 0$  (without the above change of variables).

**Theorem 4.1.** *Let  $A = -1$ ,  $y_{-1}, y_1 \in \mathbb{R}^*$ , and let  $\{y_n\}_{n=1}^{\infty}$  be a solution of Eq. (4.1). Then, every positive semi-cycle is of length one.*

**Proof.** When  $k = 1$ . Let  $y_n < 0$  and  $y_{n+1} > 0$ . Then

$$y_{n+2} = A + \frac{y_{n+1}}{y_n} < 0.$$

This completes the proof.  $\square$

## References

- [1] R. Abu-Saris, R. DeVault, Global stability of  $y_{n+1} = A + \frac{y_n}{y_{n-k}}$ , Appl. Math. Lett. 16 (2003) 173–178.
- [2] A. Amleh, E. Grove, G. Ladas, G. Georgiou, On the recursive sequence  $x_{n+1} = \alpha + \frac{x_{n-1}}{x_n}$ , J. Math. Anal. Appl. 533 (1999) 790–798.
- [3] R. DeVault, S.W. Schultz, G. Ladas, On the recursive sequence  $x_{n+1} = \frac{A}{x_n} + \frac{1}{x_{n-2}}$ , Proc. Am. Math. Soc. 126 (1998) 3257–3261.
- [4] R. DeVault, W. Kosmala, G. Ladas, S.W. Schultz, On the recursive sequence global behavior of  $y_{n+1} = \frac{p+y_{n-k}}{qy_n+y_{n-k}}$ , Nonlinear Anal. 47 (2001) 4743–4751.
- [5] H. El-Owaidy, A. Ahmed, M. Mousa, On asymptotic behaviour of the difference equation  $x_{n+1} = \alpha + \frac{x_{n-k}}{x_n}$ , Appl. Math. Comp. 147 (2004) 163–167.
- [6] V.L. Kocic, G. Ladas, Global Asymptotic Behavior of Nonlinear Difference Equations of Higher, Kluwer Academic Publishers, Dordrecht, 1993.
- [7] W. Kosmala, M.R.S. Kulenovic, G. Ladas, C.T. Teixeira, On the recursive sequence  $y_{n+1} = \frac{p+y_{n-1}}{qy_n+y_{n-1}}$ , J. Math. Anal. Appl. 251 (2000) 571–586.
- [8] S.A. Kuruklis, The asymptotic stability of  $x_{n+1} - ax_n + bx_{n-k} = 0$ , J. Math. Anal. Appl. 188 (1994) 719–731.
- [9] V.G. Papanicolaou, On the asymptotic stability of a class of linear difference equations, Math. Mag. 69 (1996) 34–43.
- [10] M. Saleh, M. Aloqeili, On the rational difference equation  $y_{n+1} = \frac{A+y_{n-k}}{y_n}$ , Appl. Math. Comput., in press, doi:10.1016/j.amc.2005.01.094.